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BR3—2 BEYICERTILEESNSERICETZEE1/2) . _ _ _ __BREEE | PRnEk
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Ei;]?fg TREOBBOESILADKRES TREDOHBESILNDKRES TREOBBOSILADKRES TREDHEBSSLADKRES
5 R 4 ﬁ}){ ‘Fﬁrﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 ‘Fﬁﬁgﬁ%g;kﬁ ‘(.%r‘n? jj(g')\;tnié X 4 ;.g,r's J:ﬁﬁ;ﬁ\(ﬁ)(btt% jj(gi;tr:_%)é X 4 J:ﬁn*m\(i)o)tt%‘ %ﬁ t&ﬁ?)é
; 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
Zzhn s 1.00 | 000 ~ 4537 54.61 | #nLS | 000 ~ 437213 11.38 Zhs 1.00 | 6.00 ~ 5.88 54.61 | ThUS | 5.00 ~ 588|213 11.38
2 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
Zhnst 1.00 | 0.00 ~ 5.39 67.21 | =0 | 000 ~ 000 1.70 9.08 Zzh st 1.00 | 5.00 ~ 5.88 67.21 | =nSN | 5.00 ~ 688|1.70 9.08
3 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
zh st 1.00 ] 000 ~ 455 56.77 | #ns | 0oo ~ 455|1.90 10.16 ZThLLst 1.00 | 5.00 ~ 5.00 56.77 | NS | 5.00 ~ 5.00 | 1.90 10.16
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 1 000 ~ 471 5869 | TN | 000 ~ 471 1.82 9.72 zh st 1.00 | 5.00 ~ 5.00 58.69 | #hst | 5.00 ~ 5.00 | 1.82 9.72
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 1 000 ~ 471 5868 | TS | 000 ~ 471 1.82 9.73 zh st 1.00 | 5.00 ~ 5.00 58.68 | Ehst | 5.00 ~ 5.00 | 1.82 9.73
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 1 000 ~ 462 57.63 | TN | 000 ~ 462 1.93 10.32 zh st 1.00 | 5.00 ~ 56.20 57.63 | Ehs | 5.00 ~ 620|193 10.32
- 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
zhnst — — ~ — —| 2 st -~ — — — zhst — - ~ — — | #h st — ~ — — —
s 100kN/mM##BZ 5 — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZS -~ — — —
zhst — — ~ — —| 2 st -~ — — — zhst — - ~ — — | #h st — ~ — — —
9 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZ S -~ — — —
Zh s 1.00 | 0.00 ~ 6.09 76.40 | #FnhLs | 000 ~ 609)1.77 9.50 Tnelst 1.00 | 5.00 ~ 7.00 76.40 | TS | 500 ~ 7.00|1.77 9.50
10 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZS -~ — — —
LS 1.00 1 000 ~ 630 79.20 | Thst | 000 ~ 630)] 223 11.93 zhst 1.00| 500 ~ 1116 79.20 | #hs | 500 ~ 1116|223 11.93
17 100kN/m##8%%| 1.00| 000 ~ 023 10340 |3mEBZZ| — ~ — — — | 100kN/mi%#BZ 5| 1.00 | 1081 ~ 1142 103,40 |3mZEiBZ5 -~ — — —
LS 1001023 ~ 802 100.00| Ths | 0oo ~ 802|187 10.02 ZThLlst 1.00 | 5.00 ~ 1081 100.00 | =hst | 5,00 ~ 11.42| 1.87 10.02
12 100kN/mM%#EZ % — - ~ — —|3mEEZB| — ~ — — — | 100kN/ M %825 — - ~ — — |3mZEiEBZ D - ~ — — —
Zh LS 1.00 | 000 ~ 7.74 99.40 | #hist | 000 ~ 7.74|1.87 10.00 Zh st 1.00 | 500 ~ 1069 99.40 | FnSt | 5,00 ~ 1069 1.87 10.00
19 100kN/mM%#EZ % — - ~ — —|3mEEZB| — ~ — — — | 100kN/M%E#B 25 — - ~ — — |3mEEZ D - ~ — — —
Zh st 1.00 | 000 ~ 726 9251 | #hst | 0oo ~ 726 1.94 10.40 Zh st 1.00 | 6.00 ~ 10.02 92.51 | NS | 5,00 ~ 1002 1.94 10.40
14 100kN/mM%#EZ % — - ~ — —|3mEEZB| — ~ — — — | 100kN/M%E#B 25 — - ~ — — |3mEEZ D - ~ — — —
ZThLLS 1.00 | 0.00 ~ 702 89.02 | #FnLst | 0.00 ~ 0.00)| 1.66 8.88 Zhst 1.00 | 5.00 ~ 9.02 89.02 | #nst | 500 ~ 9.02 | 1.66 8.88
15 100kN/mM%#EZ % — -~ — —|3mEEZB| — ~ — — — | 100kN/ Mm% #8235 — - ~ — — |3m%EiEZ D - ~ — — —
st 1.00 1 000 ~ 702 89.02 | =nhst | 0.oo ~ 000| 1.66 8.88 ZzhLs 1.00 | 5.00 ~ 9.02 89.02 | #hs | 65.00 ~ 9.02| 1.66 8.88
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16 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
ZznLst 1.00 | 0.00 ~ 4.34 54.23 | Ehdst | 0oo ~ 4.54|1.97 10.67 Zzh s 1.00 | 5.00 ~ 5.00 54.23 | #hs | 5.00 ~ 500\ 1.97 10.67
17 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
ZznLst 1.00 1 000 ~ 4.70 58.63 | Fhst | 0oo ~ 000 1.64 8.76 Zzh st 1.00 | 5.00 ~ 5.00 58.63 | Fhs | 5.00 ~ 5.00 | 1.64 8.76
19 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
zh st 1.00 1000 ~ 712 90.43 | #ns | ooo ~ 712]1.78 9.50 ZThLLst 1.00 | 5.00 ~ 896 90.43 | TnS | 5.00 ~ 896|178 9.50
19 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 ] 000 ~ 433 5412 | #ns | ooo ~ 433]1.98 10.58 ZThLLst 1.00 | 5.00 ~ 5.00 54.12 | NS | 5.00 ~ 5.00 | 1.98 10.58
20 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.56 82.74 | #Fhdst | 000 ~ 000 1.60 8.57 Zzh st 1.00 | 5.00 ~ 842 82.74 | #hs | 5.00 ~ 842 | 1.60 8.57
27 100kN/m##8%%5| 1.00| 000 ~ 180 12769 |3mEBZB| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1080 ~ 1833 | 127.69 |3mZE#BZ3 -~ — — —
Zzhnst 100|180 ~ 959 100.00| TnLsS | 000 ~ 959|226 12.09 zh st 1.00 | 5.00 ~ 1080 100.00 | =nS | 500 ~ 1833 | 2.26 12.09
29 100kN/m##8Z25| 1.00 ] 000 ~ 231 136.07 |3mZEBZZ| — ~ — — — | 100kN/mi% 2% | 1.00 | 10564 ~ 2034| 156.07 |3mEREZD -~ — — —
zhnst 1.00 | 231 ~ 110| 100.00 | NS | 000 ~ 1010|268 14.32 zhst 1.00 | 6,00 ~ 1054 100.00| Fnst | 6,00 ~ 2034 2.68 14.32
23 100kN/m## 25| 1.00] 000 ~ 1.90 129.26 |3m%Ei#BAB| 000 ~ 028|321 17.17 | 100kN/mM#E#BZ3 | 1.00 | 1341 ~ 2258 129.26 |3mZE{BZ 5| 2000 ~ 2258 3.21 17.17
LS 100|190 ~ 968 100.00| TnLs | 028 ~ 9.68| 3.00 16.05 zhst 1.00 | 500 ~ 1341 100.00 | =hst | 5,00 ~ 20.00| 3.00 16.05
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~
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